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(A) (BAH)

H = % 2TH 6 61 77, 440
= Ed 1TH 17 96 117, 272
2TH 25 208 296, 762

v 1TH 23 166 328, 649
2TH 40 795 , 379, 491

3TH 30 268 463, 643

x H 30 126 132, 220
He B 1TH 32 290 508, 033
2TH 14 52 42, 623

3TH 32 191 204, 770

He 1TH 16 227 295, 886
2TH 32 272 315, 245

3TH 23 188 247, 121

ATH 14 207 552, 727

5TH 36 325 643, 234

= = 1TH — — —
2TH 12 774 , 291, 522

th 1TH 42 184 225, 705
2TH 24 205 154, 729

3TH 45 259 352, 655

B 1TH 22 96 126, 291
2TH 22 136 283, 520

3TH 45 206 335, 444

ATEH 7 54 54, 009

5TH 10 43 77,091

6TH 46 167 152, 315

7TH 22 293 697, 733

8TH 32 251 352, 730

9TH 41 204 177, 922

7K 1TH 25 203 242, 620
2TH 23 142 189, 348

3TH 16 142 207, 562

ATH 29 193 312, 905

i 1TH 11 40 30, 867
2TH 24 203 291, 790

3TH 27 154 229, 579

ATH 46 402 532, 086
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(A) (BFH)
b7 1, 522 12, 895 24, 396, 8836
i 10 142 185, 258
32 349 479, 308
44 174 133, 986
16 82 63, 155
X B 4 39 53, 520
10 234 313, 033
22 160 207, 663
36 167 178, 160
15 103 53, 575
i 18 139 150, 242
19 222 583, 709
3 32 92, 874
] 24 280 356, 468
15 157 290, 307
13 78 143, 937
10 42 47, 368
19 93 155, 053
13 83 128, 214
=1 10 231 324, 464
4 51 227, 344
10 129 346, 319
< = 4 44 86, 606
15 103 111, 544
13 151 339, 536
< = 7 33 27, 247
13 58 58, 530
13 58 38, 002
13 111 116, 129
25 117 136, 430
8 488 3, 738, 684
= = 10 141 385, 089
27 95 68, 593

1 X X
5 50 73, 256
e 22 135 159, 541
14 132 149, 755
16 50 52, 207
13 108 161, 909
# = 15 182 214, 411




